\

M” a'!\—.-_i. ] 1003‘0\&\;\\;”595 P,“P,Ll.,.)

/’ \V\J.qu‘d\/ _L’w‘ Pa, Ps e P = 7
KT Ly
=)
G)Q'- 8 J\P‘mb&\‘(‘a +# L% \"—' P,/\’Pj} - %’P{ob
Let j \ii:(k \V\cl.ucafw{n Y o ot 10
fw o event, N e & SR 1%\
J -

\’,Cv\éi Cahw g\-\'s\»\ 0£ o @vewt o
D\\\“‘\\ Yoppen "’Pf = @\’% A Vappers

Wil e \'\O\‘J‘f?QV\”b[ 7 1@ Y X does met

) evRvy —J appen,

@Q/V\GJ\\I &l\s WA Bmomal Q. \N/ U=

en E(K\: f—’@ + (f—p)@

meev:

M-D avey, np =)M
ij@ R o

>
\ Expecel | E(Xd oo m) = E(x) +-- -4 E(x))
\aloe = np

/b Rol « Q) e de—P Jwrek \W\\\%rm di

EQX\ T PO=x) = | a2 bt - vb4=Bg)

\

Y\ 2 X% 4 <& (Nok
‘ AW
3.5 (.v\d-«u‘w B

D Jovat-are < hewnees 3NN el 44 S o
%Qmw\‘\o&dis;,? R O3 m




Exercise 55 Suppose I'm lookjng at the grades for the Monday update and the mastery quiz in class (of 250
people). For the Monday updaf{gy10% of the s : a 0,and 0% got a 1.) For the mastery quiz 20% of
the students got a 0 and 80% got a 1. I want to see how well my students are doing in two different ways.
First I create one list where I add each student’s grade from the two quizzes. On another list I multiply each
student’s grade from the two quizzes.

(1) Can I calculate the average grade for students on the first list? (the one I added them together) If so,
what’s the average?

(2) Can I calculate the average grade for students on the second list? (the one I multiplied them together)
If so, what’s the average?
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Exercise 53 Let X and Y be two independent random variables w hich are each uniformly distributed on

{1,2,..., n}. Find} \ X

_ ==L
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Exercise 52 Suppose that we have m different (disjoint) random variables X;, where each has probability p;
of occurring. Let n be the number of attempts made and let k; be the number of times that the ith outcome
happened out of the n attempts. For i < j:

(1) What is the distribution of X;?

(2) What is the distribution of X; + X;?

(3) What is the joint distribution of X;, X;, and n — X; — X;?
(Just give a formula for all parts.)




